LESSON # 07

BODY (3f®) - *q7 / *%
A TP T *% T Be 197 I practice 1 I

os.[e1] WHAT IS THIS? This is the body.
@Ee \ o} Wy e e 2y {Wr zr%}
F «Gr a@GT =™ A

[ ercsm steetier e | @i | Set st<de e | b =@

&

ox.[e] IS THIS HER BODY?
2T o R A 2
= G o 2

[ e stter e | @B 5w = 2

No, it is not her body, but it is your body.
@, W ¥} W o M, I@ W} e A
T, @t =m oW o waw, ffg O =W omm @€W)

| Ssezm e e | =, o o fw A, fow @ com <R

G| 6T @F2 I 19 I AT
CEITH &S o, RGERRIRCESE

— -
1. What is this ? » This is a part of the body. \

2. What is head ? » This is a part of the body.

&

3. What is leg ? » This is a part (415G = ==*) of the body.
4. Is it her eye (= 1¥)? » No, it is not her eye, but it is his eye.
5.1s it my hand ? » No, it isnotyour hand, butitis her hand.

6. Is this human body ? » No, it is not human body, but it is animal body.
7. Is this animal body ? » No, it  is not animal body, but it is human body.
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PART (*I%) - 5&;; FOOT (%) - 1, FEET (%5) - #i1caa ~ece

oo.[¢x] WHAT PART OF THE BODY IS THIS?
(RIS, il SRS at 3 By oy 2
J R aq RIS = aBT

| et e e | @bt =R G e 2 R

>

This part of the body is the  foot.
W e e W e Ll

s — i ~— =~/ aﬂ‘- (N §E‘J l

G T =7 At |

| Sete e Qe | R @ oG = oy

o8.[e1] WHAT IS THE PLURAL OF FOOT ?
@EE W@ i) R ™

il = AT aq AT
| e e e | foor-ag @R F o

The plural of foot s feet.

al . kR 3 5 |
\ TE, T T, "
IR i X AT |
| Sew 1= aeem | foot-aa 3 = feet | 2

G QF2 I3 I AT I

EFl

1. What part of the body is this ? »This part of the body is the handj/ foot

2. What part of the body is this? »This part of the body is the leg.

3. What part of the body is this? »This part of the body is the eye.
4. What is the plural of hand ? »The plural of hand is hands.
5. What is the plural of leg ? »The plural of leg is legs.
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RS TP IR Y B AT TS ARIGIR ST 701

LEG BACK ARM WRIST HAND FINGER THUMB

VoY Y Y Y Yy

ST &0 R e e ite OO =g

oe.[s1] WHAT IS THIS ? It is a

Kl 2 T 2 aft =@ T A
| e =TT e | @B F 2 | Stz st e | @t @3

Leg |-«3 antst ARM, WRIST Toyifn fifeg = faca sicar 9197 s |

ST practice

e What is this ? »ltisa ﬁnge/
e What is this ? » Itisa hand:

o What is this ? » Itis|an arm (IR). T
I
Read these 1—' arm *% & 2R a W; ©1% an arm T

sentences loudly hand-€3 Fce a T AFT  a hand ==

1. Is this your back ? » No, itisnot my back, butitis his back.
2. Is this his  thumb? » No, it is not his thumb, but it is my thumb ().

3. Is this her wrist ? » No, it is not her wrist, but it is his wrist.

4. Isthismy leg ? » No,itisnotyour leg,  butitis his leg.
5. Is this your finger? » No, itis not my finger, but it is her finger.
6. Is this her nose ? » No, itis not her nose, butitis his nose ((T€Y - ).
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Let us learn some new words (= 5C1 (=1 #fY {5y o+ *I)

PERSON (*pW) - I1%; PEOPLE (A7) - Sqaes

QI practice:
ov. [ex] WHAT IS THE PLURAL OF PERSON ?

3 Zero to Zaaw )

;o= IPRAS a3 e AP (AR
[ ey ste <ee | Person-aw gm0t 2 Passport to Q5K
The  plural of person is people. Afsfve
{wr gﬁf} JE_ AW, | Aw@E | se G I ofwer
IO IfeR T i |
< & <251z
| TG AR A | Person-43 plural 2T people | &iWiwa Foundation !

o°l. HOW MANY PEOPLE ARE THERE IN THIS ROOM?
T oW A, W omr 3 w2

~

QW%(@W Rl O 92 qEF W04

| ez st et | @2 aoem Wy e ¢ Wity 2

There are  about
GER W\ WEEE TRe \Aw@rr (W W @

J
IR Avew/ @ kﬂ?‘ﬂgﬁﬂtﬂ

G TCF &1 ST FTF WIE |
QST J=5tF YR SFFOCI |l T

- \
IR 8: There Tta &2 | 2eq A1) main verb T there-«3 273 |

ATRE “‘are’( 26T main verb |
@¥ ‘are’dd “FR T [are-9d subject | OF WA,
@ 31t Five people 2T are-97 subject |

five eople in this room.

QST

= Five people are in this room.
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RS TP IR Y B AT TS ARIGIR ST 701

ob‘. HOW MANY PEOPLE ARE THERE IN THIS CITY?

IE ity AcepT =i e I OGS S L i, 2
IOGH (TP ot @RI ai‘n@c%rmm

OB WZE FOT T WK ?

T | There are about 10  million eople
[B=] , peop
IR g W ffwe GIR

[rreeien et | 2 =recar eir et R (= > if6) @ e |

1. What is the plural of boy ? » The plural of boy is boys.
2. What is the plural of girl ? » The plural of girl is girls.

3. What is the plural of man? » The plural of man is men.

dn this city,

'

OB *20F T |

-

4 N\
a3 A 8 e

GF23 TN 995
BIEIE]
(SITT CSTT AT,

TRIBT 51 T !

J

4. How many boys are there in this class ? » There are about fifty boys in this class.

= About 50 boys are

in this class.

5. How many girls are there in this class ? » There are about forty girls in this class.

= About 50 girls are

in this class.

6. How many men are there in this room ? » There are aboutten men in this room.

= About 10 men are

in this class.

7. How many pens are there in this box ? » There are about 20  pens in this box.

= About 20 pens are

in this class.

How many farmers are there in this village ? (= 42 a1t o0& $IF AR ?)

There are about 200 farmers  in this village. (= 9% &I &R 00 FIF AN 1)

IEI How many teachers are there in this school ?

There are about 30 teachers in this school. (= 9% F= 2 wo F#rFzs AT 1)
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SIS

A () @92 AN (307 ¢ «<sf5; THE (w1 / i) = 51

A Book =% =936 I8 |

An Apple =TSO S = 936 WCRT |

An Orange =S W&& = IJ(6 F% |

The (M) Apple =% SR === |

The (ﬁ"({\Qrange =7 wWE® =IO |
2\

The () Book =% 3@ = 33> |

B,C,D,F,G,H,J,K, L, M, N, P, Q,
R,S, T,V,W, X, Y, Z — @3 35-01 =305
consonant (= &) 0 |
@2 *t%g &2 %4 Consonant, (12 *THd S the
@the-é@ THIFe “RI” =Y | @4: the (W) chair |

p
Apple 8 Orange THIRTA

&P Syllable =nsarer =61
SAT-GF T OR EG-9F I |
©IZ, an T | NS WIAN A
a, e, i, o, u (=3) A
a«l I, an 7 |

o, @ *HF e the A,
the-a3 TwHFe W’ 9 =T

“ﬁ” w |

.

~N

J

COMING FROM xyz (S5 &% x)z) = x)z (A< STZ

17 I practice 1 T<:
os. WHAT AM I DOING ?
A6 T REY TR 2
¥ = SRy TR
JTAR AN IRE | W FT FAR 2 -
You are coming  from the door.____ I
EC | IR ki wt (BIeT |
o R VST R0 |

ofS vl (2 P = of Ve e (AT ST |
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RS TP IR Y B AT JRTS AARIGIR ST T

so.[¢] AM 1 COMING FROM THE  WINDOW ?

A Y RIIEN T ]
Y N~ Y
wifar f& SR G 20
| e sttt < | ufit s e zv SR 2

No, you are not coming from the window, but you are going to the window.

m,{ﬁwwﬁ} e g SR, < R o cific § o SRt
il

wrR wEReS, 8 o Wz wiwE B

=,

| Serzm st qwem | 7, it we 2vs wmer A, TR o wEE e wnz |

53, AM 1 GOING TO THE WINDOW ?

RICEEER EY QUIEN NG W o], e
N ¥ N

i i Ll i e T
S s TR e Aoz 2 || J
ILLL (8 L

No, you are not going to the window, but you are coming from the window.

@, I Wy W, ofe Fowr SR, 0 3/ wm, dhRv I i%@m@rj
T, e IR wEER e, 8 oW TR S X0

A, o G fircss Az 77, 9 O ST (A0 TR |
He =0T §9& |
CWW WW?{WW@ ©1%, he-93 AT is =3,

They (SR1) =T 5-a7 & |
©1g, They-4d It are & |

1.Whatis he doing ? » He is coming from the class.
I

2. What are they doing ? » They are coming from the college.
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1. Are you coming from the field ?

2. Are you coming from the office ?

3.AmI  coming from the class ?
(= =TS & FT (20T =MAfR ?)

4 Am] going to  theschool ?
(= =t & %=1 TR 2)

5.Is she going to  the college?
(= ™1 <5 CeICe AR ?)

6.Is he coming from the town ?

(= @1 *=F (AT PR ?)

T T word-9F JIRF BT e e !

» No, [ am not coming from the field,
but I am coming from the class.
» No, [ am not coming from the office,
going to the office.

» No, [ am not coming from the class,

but [ am

but I am coming from the field.

» No, [ am not going to the school,
but I am coming from the school.
» No, she is not going to the college,
but sheis  coming from the college.
» No, he is not coming from the town,
to the town.

but he is going

s

2T (ATFS
correct IRRTS wuU v, g fwet

RaREIERUCH ERGITER Y
T S (ACF P I
AfSbT page-9 ATHSRT LN
@R AT (AT OATCE,,
CTITET AT (T (&I (=TI AT |

~\
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TOUCH (9T5) - &=t

3.
WHAT AM 1 DOING? You are touching the

@G WY wWig TR ? ECNL S R i
Y

Jr = oy AR 2 ot e AT |
[ ez st e | wifsy w2 AT of (s e el |
vo. [=]
WHAT AM I DOING ? You (are touching the
@a% WY WE gR 7 T e, @t ﬁ%m|

J W iy w2
| e st e | =iy S vl 2

s8. [er]
WHAT’S HE DOING?
| e st <t | o7 ez 2

He 1is touching his
& = ak, &=
Y

[ et | ot o BB i ez

[Wall |-a 2wt : Picture, Tie, Shirt 3% *1% 9217 I (&0 (& T |

e N
e Whatis he doing ? » He is touching the ceiling. TP T
e Whatis he doing ? » He is touching the computer. R TEGT
e Whatis he doing? » He is touching the floor. T g fost
e Whatis he doing? » He is touching the book. § IS | )
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SENTENCE WORD VERB USE FOR ACTION

@ TR (AT ¥ FTa 1T AT practice FA T

P
)Q. WHAT IS THIS? It is a sentence.
@ Ty Wy e W ] W GG
[ 7 a5 | = 95T 2 ot =@ @t I

| St st <re | «ff @i <1 |
v\

so. [ex1] WHAT IS THIS ? It is a word.
| et sTr<eTer <ree | @ F 2 W} G eTC | = off 6w

Verbs = verb-2te = f@aometa |
@BT =G plural I IR |
©I2, is W 2 are T |

,Z“Wﬁ?# 39 - - Gy ’

Z | “VERBS” ARE WORDS WHICH WE USE FOR ACTIONS.
“Verbs” SiE| GG T2n S Wy SFAP |
Verbs & %% @t SR RN IR PG FA RO |

’a. HOW MANY WORDS ARE THERE IN THE SENTENCE Z?

FORTA| e = G m?r%%?fﬂm

| erex st et | Z armrfors woetE % @i 2

There are 8 words  in the sentence Z.
(R 9, @3F eme | (3 w GG (@ |,
— ~
R w66 W &re /TS
7 ABre wisfs = =iz |

|0toHer0#17|
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Z | “VERBS” ARE WORDS WHICH WE USE FOR ACTIONS. +

N WHICH IS THE FIRST WORD OF THE SENTENCE Z ?
P} W TEL e, T W CRGT (Eg 2,

" —~—_

@G = 2T 2 Z aoa

| e st qre | @3 Z A e *=iG @G
Verbs” is the first word of the sentence Z.
N — /)

Y
Verbs =1 Y 7 93 (STC P |
| Stz s e | “Verbs” 2tz Z q<wiBe a2 = |

3. WHICH IS THE THIRD WORD OF THE SENTENCE Z?
RECI S SN 117N | S i R
'

©_
@G = O W% €T (T I
| e st e | @2 Z Arcere vt =G s 2

“Words” is  the third word, of the sentenceZ.,
" Y
“Words” =@ PO X R (T AT
| Tete= et e | “Words” = Z e oo =S |

-10. WHICH IS THE SIXTH WORD OF THE SENTENCE Z?
qd W ow ey e ww oW GRS (EC 2
~ ~
@t = LR 9% (T IFH
| et == e | Z e w8 =S @ 2

“Use” is  the  sixth word  of the  sentence Z.
“Use” | W fro ewe, o= al G (W,
7 N
“Use” = w 9% (& I |
| Tex et et | “USE” =t Z esess 18 *m7 |
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“VERBS” ARE WORDS WHICH WE USE FOR ACTIONS.

2. WHICH IS THE SEVENTH WORD OF THE SENTENCE Z?

28y, ¥} W NSRS qC, ¥ W G (S, 2
A e
@AG = AT X1 O (@ AT

| et st e | @2 o AR (G e = 2

“For” is the seventh ~word of the  sentence Z.

“For” g Nl GTreTy e ww Wl CTE™ (TC
" v
“For” = ST 7 G2 (&G I |

| Sewa st qwet | “For” =i @ corg A e =1+ |

R WHICH IS THE LAST WORD OF THE SENTENCE Z ?
23 S| Rl e W W me @T ?
S I o i G2 (TG ACHT
| e st e | @2 core A @RS o
“Actions” is the last word of the sentence Z.
“Actions” 3 W #@PG € wF W o (&8
“Actions” = ™F 7 - 9 C@@f A | ”
| Setzm st qreen | “Actions” zuwz @2 (e A e T

GF2 IIN 3T
o Is this a word ? No, it is not a word,  but it is a sentence.
e Is this a\ phrase ? » No, it is not a phrase, but it is a sentence.

Q | We went swimming in the sea.

1. Which is the first word of the sentence Q ? » ‘We’ is the first word ofthe sentence Q.
2. Which isthe4™ word ofthe sentence Q? » ‘In> isthe4™ word ofthe sentence Q.
3. Which isthe last word of the sentence Q ? » ‘Sea’ isthelast word ofthe sentence Q.
4. How many words are there in the sentence Q ? » There are six words inthe sentence Q.
5.Who isthe2™ son inthis family = ? » ‘Rubel’isthe2™ son  in this family.
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RS TP IR Y B AT TS ARIGIR ST 701

Vom FULL STOP
v fo O ~ L
| wﬁivr%%

? ]
s e
|
COMMA SEMI-COLON
v \
o fo -l o
| |
zo.[e] WHAT IS THIS ? It is a question mark.
@ T o W ] W @OEST AF |
;N EXy BT I | RO o S E N 2

[ e st aream | @i | Sete e e | @bt @<eT eprane 5z |
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e =26 Lesson fifeswwne |

38.[=] WHAT 1S THIS\‘.;‘ It is a full stop.

@G ﬁ?”'l? ™W/WH AW T B
&l L a5T = GI6T  FTEU

| et et e | @ F 2 | St st e | BT @B G |

se.[s] WHAT IS THIS? It is a comma.

@G ] o 2 ECREC I B
& @ aw B T @
[ ercem st=ete Qe | @r R 2 | Seta st e | @bt @B

. [e] WHAT IS THIS ? It is a semi-colon.
@G 3y oy 2 3 3} W EN-@EE

& a B a5 T qeBl e

[ e et arem | @B | St e e | @b @B G- |

(oIS (A A0, RRERINMRESE

1T 05T 2 I T I I ]

/*

¢ Is this a colon ? » No, it is not a colon, but it is a semi-colon.

e Is this a full stop ? » No, it is not a full stop, but it is a comma.

Is this a semi-colon ? » No, it is not a semi-colon, but it is a colon.

o
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Is this a question mark? » No, it is not a question mark, but it is a semi-colon.

Is this a comma ? » No, it is not a comma, but it is a semi-colon.




Repitition is the mother of all skills (= ==& X 71 wFoE M)

O W, (BICHT IS W RS R G1R FIE0] I K F00 2 |
qEIE % I I I CSINTE A AT 200 |

L AlAlRRl | ASHTRAY (S7m-Q) - 23w

2. WHAT WORD IS THIS ? It is the word “ashtray”.

@G ewe 3Ty fpr e W I W e -G |
%{_J

Jr RS It | I L -G

[ ez st e | @B o | Sseae sreter are | @2 =@ fs 2T “wi@mN

w.[#5] IS THERE AN ASHTRAY ON THE TABLE?

b I R 1 SR 1 5 oW G, 2
e e B LU feera ot

| e 1=t 2re | BRew B @ =wEwE wiewe

Yes,  there is an  ashtray on the table.

T, AR ¥, W W O Wchéiam
1, R[] g%  RRAE (BfTT Tt |

| Ssezm e e | 2, GlRew Toiw awlt wzm e |

1. What is an ashtray ? » An ashtray is a small container.

2.How many ashtrays arethere ? » There are nine ashtrays.

3.Is there anything in the ashtray? » Yes, there is a cigarette in the ashtray.
4.1s there an ashtray in thisroom ? » Yes, there is an ashtray in this room.
5.1Is there an ashtray on the desk ? » Yes, there is an ashtray on the desk.

6.1s there an ashtray on the floor ? » Yes, there is an ashtray on the floor.
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O FRTe T U IREF ACo! I GORS !

PRONOUNCE DOES DO MEAN AUXILIARY AS NOTHING
oIe Ty g = spifferifa =Y iR
T 0 M w wd TR @ARY e

A 9 — \

PRONOUNCE THIS WORD, PLEASE'!

2T o CH o M

@ ¥ TR ST, WA A !

3. WHAT IS HE DOING ? [Bsa]He is pronouncing the word “do”.

[ e sttt qieet | TR wamy | Setmw A e | 67 “Do” =G SwiEe Fac |

co. Aux111a{’y
WHAT IS SHE DOING? She is pronouncing the word “auxiliary”
@FG ¥} oA TR ? AT gEehr moewe “epfifrii”

Jr R AT ? CT THRY IR =G “auxiliary”
&1 (V) ¥ 0 2 &1 “auxiliary” =5 SHRE TR
OIS =

e What is he doing ? » He is pronouncing the word ‘pen’.

e What is he doing ? » He is pronouncing the word ‘cloud’.

e What is he doing ? » He is pronouncing the word ‘mean’.

e What is he doing ? » He is pronouncing the word ‘nothing’.

e What is he doing ? » He is calling (®/=(2) her sister ‘Ruma’.

e What is he doing ? » He is calling (®/=®) his brother ‘Rony’ .
4
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IR (T ST JIREAT FToATE T, @ O T

PR GRAARIN] | RIGHT (51%5) - 5% WRONG (%) - &1

G TP <R 1% T 5o 197 AT practice 1 I

: IS THAT RIGHT?
L TG 2
%(_J

o=

o.[em] 2 + 2 =7

two plus two is seven :

B @ §E = A a5 i
| ez st et | w2 el 97 = e : @61 5 B 2

@G d] No, it is not right, but it is  wrong.
Aw@  W ] R

M, @6r =T 15, s @br = @

| Serzm e e | v, @br 5 1, < @B e

ox.[e] THE WALL IS HIGH : IS THIS WRONG ?

Nl @, W oW o} ®2
et 090w %y o @oifs Sl

| e et e | craeits Sy - @B o e
but it is right.

No, it iIs not  wrong,
/W TR AW

@, W TW =@ x®,
T, ot = oW w, fe® @ = APe

| Setzm st e | A, @ft gt A, <o @ft Ao
IT RIGHT YOU ARE MR. SAKIB?

0\9. IS
e «fb o ooty G feq

| e st e | @B1 e T weifer stifesq wTiceq 2
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(T 2ATST, T© 00!
TEa Y

No, it is not right that I am Mr. Sakib, but it is wrong.
@, T}/ T T AR WE W] W FEoR e, A6 W W W
a, ot ™ T fBF @ =N = T ARE, /@9 =™ e

| Ssrzm e e | A, @bt < 1 v onfir snfeq, qe @B @ |

Yes, it is right that I am Mr. Sakib.

T, }W ¥ ww ww Wy ey fm e
1, G o= @ wfy W w™ AR
| Stz st awe | 21, @B e @ =i e ez |

fast 2{Tel, @Sl g I

e 4+5=10 :is that right ? » No, itis not right, but it is wrong.
e 4+6=10 :is that right ? » Yes, it is right that four plus six is ten.
e 4+6=9 : is that wrong? » Yes, it is wrong that four plus six is nine.

The city is big: is that wrong? » No, it is not wrong,but it is right.

He is an honest man : is that wrong ? » No, it is not wrong, but it is right.
He is tall : is that right  ? » No, it is not right that he is tall, but it is wrong.

Is it right you are Mrs. Abid?
» No, it is not right that I am Mrs. Abid, but it is wrong.

» Yes, itis  right that I am Mrs. Abid.
Is it wrong that Dhaka is a big city?
» No, it is not wrong that Dhaka is a big city, but it is right.

» Yes, itis right that Dhaka is a big city.
GFL TN A1

e It is not right that Sumon isa girl, butitis wrong.
e Itis notright that Ruma isa boy, but itis wrong.
e Itis notright that Hasan is  sick, but it is wrong.
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{ Practice Loudly }

01.
02.
03.
04.
0s.
06.

07.
08.
09.

10.
11.

12.
13.
14.
15.
16.
17.

This part of the body is the finger.

“TRR 9% BT ZET Bt
This part of the body is the eye. - BT ZfTOT Ty AT |
This part of the body is the hair. BIIR (T BT TEeet Faret
This part of the hospital is the ICU. (TR 50% TaR BT Te e |
This part of Bangladesh is Dhaka. ofi fce
The plural of chair is chairs. BT qT5R FAC AT

He is touching the table. (= &1 GRE6T = Facg 1)
He is touching the map. (= GTW=HasT 4 <z 1)
He is touching thebag. (=@M i SR 1)

COIE IFA
ferreast 4= AL |

qerE @R Afcea
BIESNIGIRSN[ET)
N FE
(SR (ST 20T !

Knives are tools which (= @%t) we use for cutting.

Pens  are tools which (= @eteT)we use for writing.

There are 4 chairs in this room. (=4 chairs are in this room.)
There are 3 tables in this class. (=3 tables arein this class.)
There are 9 students  in this class. (=9 students are in this class.)
There is a bottle in my bag. (=4 bottle is in my bag.)
There is a pen in my box. (=A4pen isinmy box.)
There is a clinic in our town. (= A4 clinic is in our town.)
, oo 3
# 12 03 17 =& Iy
wee 2R There e |

Q4R T there L € “ G 0T T4 99 A |
@: # 12-97 =G “GETRICH W2 BRGT (5 PN W0 FA0T 91 I
TR A # 12-97 o
BIRGT (ORI WICR FCN = N BIAGT (B AR |
SIF W, # 12 (S # 17-97 there *twd (@01 9L (7% |
QITCE 0T introductory there i ARES there |
# 12-9 4 chairs T are-93 subject,

& ¢ = o T It WP T TR there RO |
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